
Esercizio 3

SEGGI IN CONSIGLIO COMUNALE

1995 2000 2005 2010 MEDIA TOTALE Almeno 10?

Partito 1 5 16,7% 6 20,0% 4 13,3% 3 10,0% 4,5 18 sì

Partito 2 2 6,7% 3 10,0% 3 10,0% 0,0% 2,7 8 no

Partito 3 1 3,3% 0,0% 1 3,3% 2 6,7% 1,3 4 no

Partito 4 0,0% 0,0% 1 3,3% 2 6,7% 1,5 3 no

Partito 5 11 36,7% 7 23,3% 9 30,0% 8 26,7% 8,8 35 sì

Partito 6 2 6,7% 5 16,7% 6 20,0% 9 30,0% 5,5 22 sì

Partito 7 9 30,0% 9 30,0% 6 20,0% 6 20,0% 7,5 30 sì

TOTALE 30 30 30 30

MINIMO 1 3 1 2

MASSIMO 11 9 9 9

Quanti > 5 2 3 3 3

Quanti < 3 3 0 2 2

Quanti partiti rappresentati? 6 5 7 6
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